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QUESTION 1

You have enabled backup optimization in RMAN. You issue the following RMAN command to configure a redundancy-
based retention policy: 

CONFIGURE RETENTION POLICY TO REDUNDANCY 3; 

Which statement is true? 

A. The command fails because you cannot configure a redundancy-based retention policy when backup optimization is
enabled 

B. Backup optimization is performed, but RMAN considers the redundancy-based retention policy when it determines
which datafiles should be backed up 

C. Backup optimization is permanently disabled 

D. Backup optimization is temporarily disabled because a redundancy-based retention policy is specified 

Correct Answer: B 

 

 

QUESTION 2

Which is the correct command to put the database in ARCHIVELOG mode? 

A. alter database archivelog 

B. alter system enable archivelog mode 

C. alter database enable archive 

D. alter database archivelog enable 

E. None of the above 

Correct Answer: A 

 

QUESTION 3

Globalization support is implemented through the text- and character-processing functions provided by which Oracle
feature? 

A. RSTLNE 

B. NLSRTL 

C. LISTENER 

D. NLSSORT 
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E. Linguistic sorts 

Correct Answer: B 

NLSRTL: NLS Runtime Type Library. 

 

QUESTION 4

View the Exhibit and examine the resource consumption details for the current plan in use by the database instance.
Which two statements are true based on the output? (Choose two.) Exhibit: 

A. An attempt to start a new session by the user belonging to DSS_QUERIES fails with an error 

B. A user belonging to DSS_QUERIES can log in to a new session but the session will be queued 

C. The CPU_WAIT_TIME column indicates the total time that sessions in the consumer group waited for the CPU due
to resource management 

D. The CPU_WAIT_TIME column indicates the total time that sessions in the consumer group waited for the CPU due
to resource management, I/O waits, and latch or enqueue contention 

Correct Answer: BC 

V$RSRC_CONSUMER_GROUP Use the V$RSRC_CONSUMER_GROUP view to monitor resources consumed,
including CPU, I/O, and parallel servers. It can also be used to monitor statistics related to CPU resource management,
runaway query management, parallel statement queuing, and so on. All of the statistics are cumulative from the time
when the plan was activated. 

SELECT name, active_sessions, queue_length, consumed_cpu_time, cpu_waits, cpu_wait_time FROM
v$rsrc_consumer_group; 
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In the preceding query results, the DSS_QUERIES consumer group has four sessions in its active session pool and two
more sessions queued for activation. 

A key measure in this view is CPU_WAIT_TIME. This indicates the total time that sessions in the consumer group
waited for CPU because of resource management. Not included in this measure are waits due to latch or enqueue
contention, I/O waits, and so on. 

 

QUESTION 5

ASM supports all but which of the following file types? (Choose all that apply.) 

A. Database files 

B. SPFILEs 

C. Redo-log files 

D. Archived log files 

E. RMAN backup sets 

F. Password files 

G. init.ora files 

Correct Answer: FG 

What Types of Files Does Oracle ASM Support? 
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